Iy-37 SUMPORESALT OIS A
A EEAY 27T T AR

Y{TMRIZE S (EPD) FRATRERNBET-14-8
SixES . JR-AW-21003E-A https://ecoleaf-label.ip
# NIPPON STEEL U—LLRAHAFAE - TA1T
BEEsHRSTt (Seamless OCTG and Linepipe)

HERHI EiRES JR-AW-21003E-A
JEAPCRES PA-180000-AW-05
H PCR% MR m (EZAZR<) SRt
BE SR VNG| =] 202145H826H
B} =73y m SRR RS WII&1EE 2024418128
[RAA R SRE BB & A e BB S U R & REES N fEmBARIES T
RGBS JV-AW-24009
REOBR, FEMLE - i REEEZIHAR 2029418118
EY 1 b~ BEAEREEPR/AFRLMEX  (FOFRL - BE) PCRLE1—-DE}E
R T 0 e
DNVGL-ST-F101 RERE % b
SM grades(for sour and high collapse -
service, extra high strength grade etc.) TEXF

H1X: 4M% 1 26.7mm(1.03")~426.0mm (16.8")gg == jpsfa «
WE : 2.5mm ~50mm (2.0")

E& : ~14.0mtr (45.6ft) SEMREER /1B i
BELWSHhE%k ISO14025(CHE D TEARBEERUT —F DI U TAREE
BRGNSt OEp m7ED
IRILF—SEE %S0
httpS://WWW. nipponsteel lcom/ *:/Zj_‘Ag.’EEIE’&g'LTE%%WW@@%E@%@(J\ :/Zj___L\gf\gIE;&'?—J_—D
http://www.tubular.nipponsteel.com/ IZEBROARZTH.

EixES . JR-AW-21003E-A



IaJ->J SUMPOEIESANII OIS A

e — — A EEAT T T TR
HATMRBEE (EPD) ERHFHRBRABBEI-14-8

ZixEsS : JR-AW-21003E-A https://ecoleaf-label.ip

OS54 TY1 VI EFHliER

SUEZE) IPCC 2013 GWP 100a 1600 2800 |kg (co2i)
3] 0.092 2.0 |kg (SO255)
EXREL -0.0028 0.019 |w ormrtmm
¥1: O, QBKRUBHEHEDEET X2: QLQDE5T
S
BIR mE ®t§ra’= ORHNEE | OEE AR
SURZEE) IPCC 2013 GWP 100a | kg-CO,eq | 2.8E+03 || 6.0E+02 | 2.2E+03 -1.2E+03
AV > [ERRE kg-CFC-11eq| 1.1E-05 1.5E-07 1.1E-05 -2.2E-07
[e]e kg-S0,eq | 2.0E+00 6.6E-01 1.3E4+00 -1.9E+00
FAEEAFS S kg-C,H.eq| 2.8E-02 || 5.7E-03 | 2.2E-02 -2.6E-01
ERE kg-PO45'eq 1.9E-02 1.8E-05 1.9E-02 -2.2E-02
@
ER Bi{l OREE/2 - LT, JISQ20915(CED < #EAMEID U S
IFBERREER 7.9E+02 kg OIHRETEL, FRORRHIESE CTOEETH L.
FBLETRTRILFT— 3.6E+04 MJ SHECER LYY 2ILEZ93.0% (GTE(FIISQ20915
BENEER 8.8E+02 kg (T, 2018EEDENT—4 (M : AAMKIEES,. %
BERRIRILF— 8.6E+01 MJ BIRE. AF—ILEUYAIUHR) =ER)
BOKDHE 2.2E+01 m3 @#i%SFUAFPCRICIHED T2,
QBHEEI( [BH, —RELBLEE 10T, 20144
M RUYESICBIT DIBHLE B &ERUE,
L= B @IRF—5(F2018FEEDT — = ER LIz,
#[Fe] 291.67 |%
<> H>Mn] <1.60 |%
ZOAL[Cr] <350 |%
EUITF>[Mo] =124 |%
$A[Cu] <1.00 |%
=w4ILINi] £0.99 |%
@ YR EIS3R
EE By
BEREY 0.00E+00| kg
WEREY) 1.9E+00 kg
—RREEY 1B 0.0E+00 kg
FEERRY 1270 1.9E+00 kg

KSATUAOIVCHITBREEMBEZRLTVET,



IaJ->7 SUMPOEIESANII OIS A

e —RAEEAY RT T TIVIREHEERE
G"rjﬂﬂ/'ﬂiﬂga (L) RRHFRERAWGE1-14-8
ZH5&ES . JR-AW-21003E-A https://ecoleaf-label jo

® e = BR (— B o= 2 SR
IHH CAS No. ERE
J>H>[Mn] 7439-96-5 B e R EVE XOVE N
20AL[Cr] 7440-47-3 BREEREESES/RD2EIR
EUITF>[Mo] 7439-98-7 B e R EVE XOVE N
$FA[Cu] 7440-50-8 BREEREESES/RD2EIR
=waILINI] 7440-02-0 B e R EVE XOVE N

QERLIEZRT—IDERS
IDEA Vv2.1.3%ERALE. . RUSYIREM (RUSyT LCD) BREMERES @ IP-AJ-00012 A LI,

®fFS
2024 1 ASMRT O X B RDEDRVEIEE LTz,

0 —FHED L. PCREKLUVERE - ESMEZSRLUTIZE,
OLLEXC DT, BE - EEREICRESNIEESFZR/IZUIZBSICUMRHSNEHE A
(2885 URL : https://ecoleaf-label.jp/regulation/)
ZIRES © JR-AW-21003E-A



